

Tender No. T33/2022 Supply of Medicines & Surgical Disposables

Bids Evaluation Report

Name of Procuring Agency:	Sindh Integrated Emergency & Health Services (SIEHS)
Tender Reference No.	Tender Document –T33/2022
Tender Description/Item/services	Supply of Medicines & Surgical Disposables
Budget Available	Yes
Method of Procurement	Single Stage Two Envelopes Procedure
Tender Published in Newspapers	Newspapers (Dawn, Jang and Kawish)
Date of Publication	8 th November, 2022
Total Bids Received	Nine (09)
Technical Bid Opening date by procurement committee	26 th November, 2022
Technical Evaluation completed by technical evaluation committee	12 th December, 2022
Bid(s) Rejected	Two (02)
Financial Bid Opening by the Procurement Committee	20 th December, 2022

Technical Evaluation Committee Report:

As per notification of SIEHS (copy attached) to establish technical evaluation committee, the following three staff to perform technical evaluation of received bids:

Description	Nominated Staff Member
User/requester department (Operations Department)	Dr. Ali Kashan Malick
Nominated staff member from CTD Department	Dr. Kamran Idrees
Neutral Member from Administration Department	Mr. Shahzad Noor

Summary of Technical Evaluation Process:

In result of publication of tender in three different languages newspapers, total nine (09) bids were received from the following bidders:

- (1) M/s Hospital Supply Corporation, (2) M/s Waseem Brothers, (3) M/s Vision Pharma Network, (4) M/s Mabro International,
- (5) M/s M.H.K. Enterprises, (6) M/s Medi EQ, (7) M/s S. Hussain & Sons, (8) M/s Karim Industries, (9) M/s Life Care



SINDH TEGRATED EMERGENCY AND HEALTH SERVES BID EVALUATION REPORT

Tender No. T33/2022 Supply of Medicines & Surgical Disposables

The technical evaluation committee of SIEHS thoroughly reviewed the technical proposals of each bidder in light of the technical evaluation criteria defined in the tender document and scored to each proposal accordingly.

Bid(s) Disqualified: M/s Life Care did not provide complete documentation in their bid as per the instructions of Tender document and disqualified by the procurement committee at the time of technical bid opening. Further, M/s Karim Industries enclosed copy of bid security in the technical proposal without hiding the amount and not followed the instructions of Tender document and disqualified by the committee. M/s Life Care is technically disqualified during the course of technical evaluation by the technical evaluation committee.

The following are technically qualified bidders is the result of Technical Evaluation:

(Duly signed technical evaluation report is attached):

		Bidder Name	Bidder Name	Bidder Name	Bidder Name	Bidder Name	Bidder Name	Bidder Name
Description	Score	Hospital Supply Corporation	Waseem Brothers	Vision Pharma Network	Mabro International	M.H.K. Enterprises	Medi EQ	S. Hussain & Sons
ELIGIBILITY CRITERIA (Minimum 60% score is required from the following criteria)	50	40	50	50	50	40	40	40
MARKING CRITERIA FOR SOLE AGENT (Minimum 60% score is required from the following criteria)	80	80	65	65	60	65	60	Not Applicable
Technically Qualified (Yes/No):		Yes	Yes	Yes	Yes	Yes	Yes	Yes

Signature of Procurement Committee:

Dr. Mohammad Saeed Quraishy, VC, DUHS (Chairman)

Mr. M Ibrahim Memon,
Additional Secretary (PM&I), Health
Department, GoS (Member)

Mr. Syed Salman Shah, D.G. PDMA (Member)



SINDH ETEGRATED EMERGENCY AND HEALTH SERVES BID EVALUATION REPORT

Tender No. T33/2022 Supply of Medicines & Surgical Disposables

Financial Evaluation:

Marks obtained in the detailed technical evaluation will be carried forward band prorated. Tender will be awarded to the responding organization with maximum accumulative points (Technical Score + Financial score), preference will be given to sole manufacturer/distributor as per the terms of the tender document.

For the purposes of determining the best advantageous bid, facts other than price such as previous performances, previous experience, OEM Authorization, quality assurance, expertise, financial soundness and such other details, SIEHS at its discretion, may consider appropriate will be taken into consideration.

S No	Name of Bidder	Quoted Price Score (Least amount of bids / Quoted amount) x 30	Payment Terms Score	Total Score of Financial Bid
1	M/s Hospital Supply Corporation	19.76	20.00	39.76
_ 2	M/s Waseem Brothers	22.50	20.00	42.50
3	M/s Vision Pharma Network	29.97	20.00	49.97
4	M/s Mabro International	30.00	20.00	50.00
5	M/s M.H.K. Enterprises	30.00	20.00	50.00
6	M/s Medi EQ	FINANCIAL BID DISQUALIFIED ON THE E	ASÍS OF ÍNCORRECTED I	BID SECURITY
7	M/s S. Hussain & Sons	23.00	20.00	43.00

ben (m)

Bids evaluation as per the evaluation criteria of tender document:

S No	Name of bidder	Technical Score 50 (A) ELIGIBILITY CRITERIA	Technical Score 80 (B) MARKING CRITERIA FOR SOLE AGENT	Financial score 50 (C)	Total score A+B+C)	Total score (A+C)	Total cost offered by the bidder	Remarks
1	M/s Hospital Supply Corporation	40	80	39.76	159.76		PKR:15,377,667.60	Awarded Value PKR: 283, 626.00 Hen Busied: 08NOS Hen Awarded: 01NOS.
2	M/s Waseem Brothers	50	65	42.50	157.50		PKR:17,099,266-50	Purided Value Pur: 10,315,972.50 Item Quated: 16Nes Ukm Awarded: 12Nes.
3	M/s Vision Pharma Network	50	65	49.97	164.97		PKR: 8,365,560-60	Awarded Value PKR: 8,080,926.60 Iten Quated: 17Nos. Hen Awarded: 16 Nos.
4	M/s Mabro International	50	60	50.00	160.00		PKR: 5,737,989.60	Awarded Value IRE: 5,737,989.60 Item Swited: 4Nos. Item Awarded: 4Nos.
5	M/s M.H.K. Enterprises	40	65	50.00	155.00		PKR: 913,498.70	Averded Value: PAR-676, 103-70 Hem Quoted: 3 Nos. Hem Averded: 2 Nos.
6	M/s Medi EQ	40	60	FÎNANCIAL B	BZD DZSO	WALIFIED DN	THE BASTS COUNT	f INCORRECTED
7	M/s S. Hussain & Sons	40	Not Applicable	43		83	PKR:13,352,959.30	Aworded Value PKE: 92,137.50 Item Queted: 11NOS Item Awarded OINO.

Financial comparison is attached.

Signature of Procurement Committee:

Dr. Monammad Saeed Quraishy, VC, DUHS (Chairman)

Mr. M Ibrahim Memon, Additional Secretary (PM&I), Health Department, GoS (Member) Mr. Syed Salman Shah, D.G. PDMA (Member)



					Hospital Supp	ly Corporation	Was	seem Brothers	Vision	Pharma Network	Mabr	o International	М.Н.	K. Enterprises	S. Hi	ussain & Sons	
S.NO	Description	Specification	иом	QTY	Rate	Amount	Rate	Amount	Rate	Amount	Rate	Amount	Rate	Amount	Rate	Amount	Remarks
1	INF. 25% DEXTROSE WATER	*20 ML NJECTION *RROPER ACCESS PORT *RROPER COVERING OF ACCESS PORT *CONTIAINE IS DISTRIBLE FOR THE ACCEPTANCE, STORAGE, AND *LABEL* PAPEL LABEL *FOLLUREL *LABEL** *FOLDER *CLEAR EXPIRED ANT *ROPER SEALING	AMPULE	12600	PKR 22.51	PKR 283,626.00	-		PKR 22.59	PKR 284,634.00							M/s Hospital Supply Corporation is lowest in prices. Recommended to award the contract.
2	ACTIVATED CHARCOAL	SO GRAMS PACK **INE POWDER **BLACK-FLAVOURLESS, ODOURLESS **PROPER SEALING**	BOTTLE	601									PKR 395.00	PKR 237,395.00			Item has been cancelled from Tender No. 33
3	INJ. NALBUPHINE HCL	AMPOULE OF 10 MG, 1ML I/V USE	INJ	3240									PKR 55.28	PKR 179,107.20			M/s M.H.K. Enterprises is lowest in prices. Recommended to award the contract.
4	INJ. OMEPRAZOLE	VIAL OF 40 MG, 10ML VIV USE PROPER SEALING	LNI	3641									PKR 136.50	PKR 496,996.50			M/s M.H.X. Enterprises is lowest in prices. Recommended to award the contract.
5	DISPOSABLE GOWN	STERILE NON WOVEN AT LEAST 60 GSM WATER RESSTANT STICHING: 6 STÜNCH SLEVES WITH WIBS (preferred)	EACH	5110							PKR 304.20	PKR 1,554,462.00					M/s Mabro International is lowest in prices. Recommended to award the contract.
6	FACE MASK	EAR LOOP OISPOSABLE NON WOVEN 3 PLY WITHOUT GLASS FIBER, WITH NOSE PIN *50 PCS / PACKET IN PLASTIC BAG	EACH	961200	PKR 5.60	PKR 5,382,720.00	PKR 2.80	PKR 2,691,360.00			PKR 2.57	PKR 2,474,128.80			PKR 2.81	PKR 2,700,972.00	M/s Mabro International is lowest in prices. Recommended to award the contract.
7	SCRUB SOLUTION	• 500 ML • (NON-SURGICAL)	EACH	3024							PKR 421.20	PKR 1,273,708.80					M/s Mabro International is lowest in prices. Recommended to award the contract.
8	POVIDONE-IODINE 7.5% SURGICAL SCRUB	BOTTLE – 450 ML PLASTIC BOTTLE	BOTTLE	927							PKR 470.00	PKR 435,690.00					M/s Mabro International is lowest in prices. Recommended to award the contract.
9	FACE MASK	KN-95 EAR LOOP DISPOSABLE	EACH	3150											PKR 29.25	PKR 92,137.50	M/s S. Hussain & Sons is lowest in prices. Recommended to award the contract.
10	SURGICAL PAPER TAPE	SIZE 2 INCH MEDICAL TAPE TRANSPARENT WATERPROOF WIDE AREA FIXATION	EACH	2130											PKR 286.65	PKR 610,564.50	Item has been cancelled from Tender No. 33
11	MEDICAL WOODEN SPLINTS	SIZE 18 INCH SMOOTH AND LIGHT WEIGHT WOOD	EACH	620											PKR 258.57	PKR 160,313.40	Item has been cancelled from Tender No. 33
12	MEDICAL WOODEN SPLINTS	SIZE 24 INCH SMOOTH AND LIGHT WEIGHT WOOD	EACH	620											PKR 405.41	PKR 251,354.20	Item has been cancelled from Tender No. 33
13	MEDICAL WOODEN SPLINTS	SIZE 6 INCH SMOOTH AND LIGHT WEIGHT WOOD	EACH	581											PKR 128.70	PKR 74,774.70	Item has been cancelled from Tender No. 33



					Hospital Supp	y Corporation	Was	eem Brothers	Vision F	harma Network	Mabr	o International	M.H.K. Enterprises	S. H	ussain & Sons	
S.NO	Description	Specification	UOM	QTY	Rate	Amount	Rate	Amount	Rate	Amount	Rate	Amount	Rate Amount	Rate	Amount	Remarks
14	SYRINGE 30ML	BLISTER PACK WITH LEUR LOCK	EACH	31900										PKR 49.14	PKR 1,567,566.00	Item has been cancelled from Tender No. 33
15	INF. 0.9% NORMAL SALINE	- 100 ML - PROPER ACCESS PORT - PROPER COVERING OF ACCESS PORT - CONTAINER SUITABLE FOR THE - PROPER NAMER TO HANG IT UP - LABEL, PAPER LABEL, FOIL LABEL, PRINTING OR EMBOSSING USED TO IDENTIFY THE - PROPER SEALING - PROPER SEALING	BOTTLE	5940	PKR 68.24	PKR 405,345.60			PKR 50.35	PKR 299,079.00						M/s Vision Pharma Network is lowest in prices. Recommended to award the contract.
16	INF. 0.9% NORMAL SALINE	* 20 ML NJECTION * PROPER ACCESS PORT * PROPER COVERING OF ACCESS PORT * CONTIAINE TS DUTI ALE FOR THE ACCEPTANCE, STORAGE, AND * LABEL PAPER LABEL, FOIL LABEL, PRINTING OR BROSSING USED TO IDENTIFY THE PRODUCT ** CLEAR EXPRIT DATE ** PROPER SEALING	AMPULE	23400	PKR 20.14	PKR 471,276.00			PKR 14.19	PKR 332,046.00						M/s Vision Pharma Network is lowest in prices. Recommended to award the contract.
17	INF. 0.9% NORMAL SALINE	*500 ML INJECTION/DRIP *PROPER ACCESS PORT *PROPER ACCESS FORT *CONTAINER S SUITABLE FOR THE *CONTAINER S SUITABLE FOR TH	BOTTLE	10000					PKR 70.49	PKR 704,900.00						M/s Vision Pharma Network is lowest in prices. Recommended to award the contract.
18	COTTON BANDAGE ROLL	6 INCH SIZE PACK OF 12 PCS EXPIRY (Preferred)	ROLL	5652					PKR 40.80	PKR 230,601.60						M/s Vision Pharma Network is lowest in prices. Recommended to award the contract.
19	CREPE BANDAGE ROLL	• 6 INCH SIZE • PACK OF 12 PCS • EXPIRY (Preferred)	ROLL	5460					PKR 168.00	PKR 917,280.00						M/s Vision Pharma Network is lowest in prices. Recommended to award the contract.
20	GAUZE PADS STERILISED	* STERILE GAUZE DRESSINGS USP. SIZE 4" X 4" X 8 PLY USP • (STERILE). BOX OF 10 PACKETS (EACH PACKET CONTAINS 1 X 12 PIECES)	PKT	704					PKR 128.00	PKR 90,112.00						M/s Vision Pharma Network is lowest in prices. Recommended to award the contract.
21	GAUZE PADS UNSTERILISED	UNSTERILE GAUZE SWAB MADE FROM 100% COTTON GAUZE FABBIC - SWABS HAVE FOLDED EDGES WHICH ENSURE THAT THERE ARE NO LOOSE THREADS - PACKING OF 100 PCS	PKT	1166					PKR 524.00	PKR 610,984.00						M/s Vision Pharma Network is lowest in prices. Recommended to award the contract.
22	IV CANNULA (20G)	* CATHETER, PTFE TUBING MADE UPTO THE REPLIENT OF FRICTION, COLOR CODING AND FLOW RATES AS PER STANDARDS. DOCUMENTS REQUIRED.*	EACH	5300			PKR 157.08	PKR 832,524.00	PKR 98.00	PKR 519,400.00						M/s Vision Pharma Network is lowest in prices. Recommended to award the contract.
23	IV CANNULA (22G)	CATHETER, PTFE TUBING MADE UPTO THE REQUIRED STANDARD, PTFE LOWEST CO- FERCIENT OF RETICION, COLDO ECODING AND FLOW BATES AS PER STANDARDS. DOCUMENTS REQUIRED.*	EACH	14000			PKR 157.08	PKR 2,199,120.00	PKR 98.00	PKR 1,372,000.00						M/s Vision Pharma Network is lowest in prices. Recommended to award the contract.
24	IV CANNULA (24G)	CATHETER, PTFE TUBING MADE UPTO THE REQUIRED STANDARD, PTFE LOWEST CO- FERCIENT OF RETICHON, COLOR CODING AND FLOW BATES AS PER STANDARDS. DOCUMENTS REQUIRED.*	EACH	6300			PKR 168.30	PKR 1,060,290.00	PKR 98.00	PKR 617,400.00						M/s Vision Pharma Network is lowest in prices. Recommended to award the contract.



					Hospital Supp	ly Corporation	Was	eem Brothers	Vision I	harma Network	Mab	ro International	м.н	K. Enterprises	S. Hi	ussain & Sons	
S.NO	Description	Specification	UOM	QTY	Rate	Amount	Rate	Amount	Rate	Amount	Rate	Amount	Rate	Amount	Rate	Amount	Remarks
25	IV DRIP SET	TUBING MADE FROM MEDICAL GRADE VIRGIN PTE, FLOW RATE AS PER STANDARD*	EACH	13000	PKR 75.00	PKR 975,000.00			PKR 36.72	PKR 477,360.00					PKR 44.46	PKR 577,980.00	M/s Vision Pharma Network is lowest in prices. Recommended to award the contract.
26	SYRINGE 10ML	BLISTER PACK WITH LEUR LOCK	EACH	4400	PKR 28.00	PKR 123,200.00			PKR 11.21	PKR 49,324.00					PKR 22.23	PKR 97,812.00	M/s Vision Pharma Network is lowest in prices. Recommended to award the contract.
27	SYRINGE 5ML	AUTODISABLE BLISTER PACK WITH LEUR LOCK	EACH	16000	PKR 11.50	PKR 184,000.00			PKR 8.63	PKR 138,080.00					PKR 15.21	PKR 243,360.00	M/s Vision Pharma Network is lowest in prices. Recommended to award the contract.
28	ALCOHOL SWABS	• 200 PCS/PKT	PKT	3084					PKR 480.00	PKR 1,480,320.00							M/s Vision Pharma Network is lowest in prices. Recommended to award the contract.
29	MERCURY FREE THEROMETER	MECURY FREE MANNUAL AMALGUM - GALINSTAN	EACH	252					PKR 560.00	PKR 141,120.00							M/s Vision Pharma Network is lowest in prices. Recommended to award the contract.
30	MEDICATED / SURGICAL ABSORBENT COTTON ROLL	• 200 GRAMS	EACH	435					PKR 232.00	PKR 100,920.00							M/s Vision Pharma Network is lowest in prices. Recommended to award the contract.
31	CHEST ELECTRODES	FIRM STICKINESS PACK OF 100/50 PCS LABELED EXPIRY NON HYGROSCOPIC	PKT	220			PKR 550.00	PKR 121,000.00									M/s Waseem Brothers is lowest in prices. Recommended to award the contract.
32	DISPOSABLE HEAD CAP	STANDARD SIZE PACKING OF 100 PCS	PKT	2464			PKR 600.00	PKR 1,478,400.00									M/s Waseem Brothers is lowest in prices. Recommended to award the contract.
33	FACE MASK	• HM-102 • 50 PCS / PACKET	EACH	4950			PKR 4.75	PKR 23,512.50									M/s Waseem Brothers is lowest in prices. Recommended to award the contract.
34	SURGICAL GLOVES LATEX STERILE PACK	POWDERED RUBBER LATEX SURGICAL GLOVES STERILLIZED HALF SIZE MEDIUM & HALF SIZE LARGE PACKING OF 100 PCS	PKT	7950	PKR 950.00	PKR 7,552,500.00	PKR 690.00	PKR 5,485,500.00							PKR 877.50	PKR 6,976,125.00	M/s Waseem Brothers is lowest in prices. Recommended to award the contract.
35	IV CANNULA (14G)	CATHETER, PITE TUBING MADE UPTO THE REQUIRED STANDARD. PITE LOWEST CO- EFFICEINT OF FRICTION, COLOR CODING AND FLOW RATES AS PER STANDARDS. DOCUMENTS REQURIED.*	EACH	1100			PKR 149.60	PKR 164,560.00									M/s Waseem Brothers is lowest in prices. Recommended to award the contract.
36	OXYGEN NASAL PRONG	SIZE INFANT ADJUSTABLE, SMOOTHLY FINISHED NASAL TIPS FOR MAXIMUM PATIENT COMFORT-INFANT	EACH	5400			PKR 75.00	PKR 405,000.00									M/s Waseem Brothers is lowest in prices. Recommended to award the contract.
37	OXYGEN NASAL PRONG	SIZE ADULT ADJUSTABLE, SMOOTHLY FINISHED NASAL TIPS FOR MAXIMUM PATIENT COMFORT - ADULT EAR LOOP	EACH	2500			PKR 75.00	PKR 187,500.00									M/s Waseem Brothers is lowest in prices. Recommended to award the contract.
38	NEBULIZER MASK	SIZE ADULT TRANSPARENT NEBULIZER MASK KIT AND PIPE SET WITH MEDICINE CUP FOR ADULT EAR LOOP	EACH	4500			PKR 132.00	PKR 594,000.00									M/s Waseem Brothers is lowes in prices. Recommended to award the contract.
39	NEBULIZER MASK	SIZE CHILD TRANSPARENT NEBULIZER MASK KIT AND PIPE SET WITH MEDICINE CUP FOR CHILD EAR LOOP	EACH	5500			PKR 132.00	PKR 726,000.00									M/s Waseem Brothers is lowes in prices. Recommended to award the contract.
40	OXYGEN MASK	SIZE ADULT OXYGEN MASK ADULT ELONGATED WITH STANDARD 7' OR 2.1M TUBING, ELASTIC STRAP STYLE, SALTER LABS EAR LOOP	EACH	6200			PKR 95.00	PKR 589,000.00									M/s Waseem Brothers is lowes in prices. Recommended to award the contract.
41	OXYGEN MASK	SIZE CHILD OXYGEN MASK CHILD ELONGATED WITH STANDARD 7' OR 2.1M TUBING, ELASTIC STRAP STYLE, SALTER LABS EAR LOOP	EACH	3200			PKR 95.00	PKR 304,000.00									M/s Waseem Brothers is lowest in prices. Recommended to award the contract.
42	OXYGEN MASK	SIZE INFANT OXYGEN MASK INFANT ELONGATED WITH STANDARD 7' OR 2.1M TUBING, ELASTIC STRAP STYLE, SALTER LABS EAR LOOP	EACH	2500			PKR 95.00	PKR 237,500.00									M/s Waseem Brothers is lowest in prices. Recommended to award the contract.



					Hospital Supp	y Corporation	Was	eem Brothers	Vision F	harma Network	Mab	o International	M.H.	K. Enterprises	S. Hi	ussain & Sons	
S.NO Descript	tion	Specification	иом	QTY	Rate	Amount	Rate	Amount	Rate	Amount	Rate	Amount	Rate	Amount	Rate	Amount	Remarks
43 GYNE KIT		PROPER SEALING *STERLIZED GAUZE PADS CALAMPING CLIES SURGICAL BLADE *LATEX GLOVES *GOWN *WARPPING SHEET *CSPOSSABLA TRAY *COMPANY *COMPAN	SET	801													Bid not received
44 ASPRIN (ACETYL SA	ALICYLIC ACID)	300MG SOLUBLE, BLISTER / STRIP ENTERIC-COATED TAB. PACK OF 30'S OR LESS WITH LEAFLET BLISTER PACK.	TAB	5516													Bid not received
45 INF. 5% DEXTROSE	: SALINE	* 500 ML INJECTION/DRIP * PROPER ACCESS PORT * PROPER ACCESS PORT * PROPER COVERING OF ACCESS PORT * CONTAINER IS SUTMALE FOR THE ACCEPTANCE, STORAGE, AND * ADMINISTRATION OF INJECTION SOLUTION * PROPER HANGER TO HANG IT UP * LABEL, PAPER HALE, FOL LABEL, PINITING OR EMBOSSING USED TO IDENTIFY THE * PROPER SEALING * PROPER SEALING	BOTTLE	1960													Bid not received
46 INJ. DICLOFENAC SI	ODIUM	• 75MG, • AMPOULE OF 3ML, • IV/ IM USE	INJ	7200													Bid not received
47 INJ. ADRENALINE		AMPOULE OF 0.1%, 1ML I/V USE	INJ	4300													Bid not received
48 FUROSEMIDE		AMPOULE OF 20 MG, 2ML I/V USE TABLET	INJ	6250													Bid not received
49 GLYCERYL TRINITRA	ATE	TABLET O.5 MG PROPER SEALING	TAB	6420													Bid not received
50 INJ. METOCLOPRAN	MIDE	AMPOULE OF 10 MG, 2ML I/M and I/V USE	INJ	6560													Bid not received
51 INJ. MIDAZOLAM H	HCL	AMPOULE OF 5 MG, 5ML I/M & I/V USE	INJ	2300													Bid not received
52 INJ. NALOXONE HC	CL	AMPOULE OF 0.4 MG, 1ML I/M & I/V LISE	INJ	940													Bid not received
53 INJ. PHENIRAMINE	MALEATE	AMPOULE OF 50 MG, 2ML I/M USE	INJ	3900													Bid not received
54 OINTMENT SKIN PO		TUBE – 20 G EXTERNAL USE	TUBE	623													Bid not received
SULPHATE + BACITI	BULIZING	BOTTLE – 20 ML 5MG/ML	BOTTLE	3308													Bid not received
TAB. MISOPROSTO		200 MCG + 50 MG BLISTER PACKING	TAB	7780													Bid not received
DICLOPENAC SODIC		TABLET AMPULE 500 MG/5 ML															
57 INJ. TRANEXAMIC A	ACID	• I/V USE	INJ	4430													Bid not received
58 AIRWAY - ADULT SI	SIZE 2	PROPER SEALING SUITABLE FOR MAINTAINING AN UNDSTRUCTED CROPHARMICGEAL ARRWAY, HEM MODIVES DELEGH ARRWAYS MUST BE MADE FROM SEMI-MIGS KON-TONC STANDARD LINEATI PRODUCT MUST BE COLOR CODED, SZESS AND COLOR COMED, SZESS AND COLOR COMED FOR SEMI-MIST SEMI-MIS	EACH	355													Bid not received
59 AIRWAY - ADULT SI	SIZE 3	* PROPER SEALING * SUTINALE FOR MAINT ANNING AN UNDOSTRUCTED OROPHARMOGEAL AIRWAY, ** THE MEDIVESS QUEEL AIRWAYS MUST BE MADE FROM SEMINISION SON-TOOL POLYTETHELE AND ARE COMPLIANT TO STANDARD ELEMENT ** PRODUCT MUST BE COLOR CODED. ** SEZES AND COLOR CODING DETAILS MENTIONED ON INDIVIDUAL PACKING. ** LOZINK (PICHERO) ** LABEL MUST BE WITH PERMANENT PRINTING	EACH	355													Bid not received



Description:	C***	11054	OTY	Hospital Suppl	ly Corporation V	/aseem Brothers	Vision	Pharma Network	Mabro	International	M.H.K.	Enterprises	S. Hi	ussain & Sons	Damada.
Description	Specification	ООМ	QTY	Rate	Amount Rate	Amount	Rate	Amount R	ate	Amount	Rate	Amount	Rate	Amount	Remarks
AIRWAY - ADULT SIZE 4	PROPER SEALING SUTTABLE FOR MAINTAINING AN UNDOSTRUCTED COOPHARMYCEAL AIRWAY, INTER MEDIVICES GUEDEL AIRWAYS MUST BE MADE FRAM SEAH HIGS NON TOOL POLYETHYLENE AND ARE COMPLIANT TO STANDARD LENGTH, SIGN TOOL POLYETHYLENE AND ARE COMPLIANT TO STANDARD LENGTH, SIGN COORD. POLYETHYLENE AND ARE COMPLIANT TO STANDARD LENGTH, SIGN COORD. POLYETHYLENE AND ARE COMPLIANT TO STANDARD LENGTH, SIGN COORD. POLYETHYLENE AND ARE COMPLIANT. POLYETHYLENGTH, SIGN COORD. POLYETHYLENGTH, SIGN	EACH	355												Bid not received
AIRWAY - ADULT SIZE 5	- PROPER STAINS - SUPRALE FOR MANDY ANNIVE, AN - SUPRALE FOR MANDY ANNIVE, AN - SUPRALE FOR MANDY ANNIVERS ANNIVER THE MEDICES GUERDE ANNIVERS MANTS TE MADE FROM SEM-HIGHS NON-TONC POURTTH-HIGHS AND ARE COMPLIANT TO STANDARD LENGTHS PRODUCT MUST BE CLORE CODED SZES AND COLOR CODED GTALS MENTINGED ON NOVIDULAR PACKING LABEL MUST BE WITH PERMANENT PRINTING - LABEL MUST BE WITH PERMANENT - PRINTING - TO ANNIVER AND AND ANNIVER AND ANNIVER AND AND AND ANNIVER AND	EACH	355												Bid not received
AIRWAY - CHILD SIZE 0	PROPER SEALING SUTTABLE FOR MAINT AINING AN UNDSTRUCTED COOPHIANT GEAL AIRWAY. THE MEDIVES GLIDEL AIRWAYS MUST BE MADE FRAND SEAH GISS NON TOOL POXTETHILER AND ARE COMPLIANT TO STANDARD LINGTING. PRODUCT MUST BE COLOR CODED. SYSTE AND COLOR CODING TOTALS MAINTONED ON NOTIFICIAL PACKING. LOWER VIPICHED. LOWER VIPICHED. LABEL MUST BE WITH PERMANENT PRINTING.	EACH	449												Bid not received
AIRWAY - CHILD SIZE 00	PROPER SEALING SUTTABLE FOR MAINT AINING AN UNDOSTRUCTED COOPPHARMICEAL AIRWAY, INTER MEDIVICES GLUEDEL AIRWAYS MUST BE MADE FROM SEAH-HIGS NON TOOL POUTTHIVERE AND ARE COMPLIANT TO STANDARD LENGTHS. PRODUCT MUST BE COLOR CODED. SYSTE AND COLOR CODING DETAILS MINITONED ON NOVIDULAL PACCING. SURRY PROPERTY. LABEL MUST BE WITH PERMANENT PRINTING.	EACH	449												Bid not received
AIRWAY - CHILD SIZE 1	- PROPER STALING - SUTTABLE FOR MAINT ANNIGE AN UNDOSTRUCTED GOPHARWIGEAL AIRWAY, 1-THE MEDITOCK GUIDED AIRWAYS MAST BE MADE FROM SEIN-HIGHS NON-TONC POLYTHTHERE AND ARE COMPUTATT TO STANDARD LENGTHS PRODUCT THUS BE COLOR CODED 3252 AND COLOR CODING DETAILS MENTINGED ON NOVIPOLAL PACKING LOWER (Preferred) - JACKL MUST E WITH FERMANENT PRINTING - STAND COLOR CODING THE FROM THE PRINTING - STAND COLOR CODING THE PRINTING - STAND COLOR CODING THE STAND - STAND COLOR CODING - STAND CODING - STAND COLOR C	EACH	449												Bid not received
DISPOSABLE RAZOR	PLASTIC DOUBLE BLADE	EACH	1092										+		Bid not received
ECG GEL	BOTTLE - 200 ML EXPIRY - PREFEERED	EACH	186												Bid not received
ECG PAPER ROLL	PAPER WIDTH: 50MM LENGTH: 30M PAPER TYPE: ROLL GRID COLOR: RED	EACH	191												Bid not received
I.V STOPPER/ HEP LOCK	UNIVERSAL STOPPER MADE UP FROM DEFINED STANDARDS* (ANTI-COAGULANT)	EACH	15300												Bid not received
CERVICAL COLLAR	SOFT LARGE SMOOTH EDGES	EACH	383												Bid not received
CERVICAL COLLAR	SOFT MEDIUM SMOOTH EDGES	EACH	407												Bid not received
	AIRWAY - ADULT SIZE 4 AIRWAY - ADULT SIZE 5 AIRWAY - CHILD SIZE 0 AIRWAY - CHILD SIZE 0 DISPOSABLE RAZOR ECG GEL ECG PAPER ROLL LV STOPPER/HEP LOCK	AIRWAY - ADULT SIZE 4 PROPER SEALING - SUTTABLE FOR MAINTAINING AN UNGSTRUCTED COMPANATIONAL AURWAY MADE FROM SEM GIGS NON-TOX STANDARD LENGTHS. - PRODUCT MUST BE COLOR COODE SIZES AND COLO	* PROPER SEALING * SUITABLE FOR MAINT ANNING AN UNDESTRUCTED CORPOPARATION AND AND AND AND AND AND AND AND AND AN	* PROFES SEALING * SUITABLE FOR MAINTAINING AN UNCESTRUCTED CORPORATIVED.* AND MAINTAINING AND UNCESTRUCTED CORPORATIVED.* AND MAINTAINING AND UNCESTRUCTED CORPORATIVED.* AND MAINTAINING A	PROPER SALANG **ROTER SALANG **SURTABLE FOR MANDERS AND	PRICES 22476 PRIC	Part	Package Pack	MINOAY - ADULT SCE 4	Part	March Marc	March Marc	Marie Mari	March Marc	Marie Mari



					Hospital Suppl	ly Cornoration	Was	eem Brothers	Vision I	Pharma Network	Mahr	o International	мнк	. Enterprises	S Hi	ussain & Sons	
S.NO	Description	Specification	UOM	QTY	Rate	Amount	Rate	Amount	Rate	Amount	Rate	Amount	Rate	Amount	Rate	Amount	Remarks
71	SUCTION CATHETER YAUNKER	SURGICAL SUCTION INSTRUMENTS ARE MADE OF A MALLEABLE VINYL, ARE NONBREAKABLE, AND HAVE A SMOOTH INNER LUMEN.	EACH	1500													Bid not received
72	SUCTION CATHETER 16F	TUBING MADE OF MEDICAL QUALITY STANDARDS HAVING EASY GLIDING CHARACTERSTICS WITH SMOOTH TUBING SUBFACE AND ATRAMATIC ROUNDED CATHETER TIP, MUST HAVE SOFF PVC WITH COLOR CODED CONE FITTING.	EACH	1900													Bid not received
73	SUCTION CATHETER 8F	TUBING MADE OF MEDICAL QUALITY STANDARDS HAVING EASY GLIDING CHARACTERSTICS WITH SMOOTH TUBING SUBFACE AND ATAMANATIC ROUNDED CATHETER TIP, MUST HAVE SOFF PVC WITH COLOR CODED CONE HITTING.	EACH	1500													Bid not received
74	SUCTION TUBE	REUSABLE (Preferred)	EACH	3000													Bid not received
75	VOMITING BAG	MADE FROM COATED PAPER, IN FOLDED SHAPE WITH HOLDING CAPACITY OF LIQUID	EACH	15800													Bid not received
76	DISTILLED WATER	• 6 LTR/BOTTLE	BOTTLE	1693													Bid not received
		GRAND TOTAL			PKR 15,3	77,667.60	PKR	17,099,266.50	PKR	8,365,560.60	PKF	5,737,989.60	PKR	913,498.70	PKR :	13,352,959.30	